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https://proteviblog.typepad.com/.a/6a00d8341ef41d53ef016300401303970d-pi 

 

 

From 

Model-independent reconstruction of f(T) teleparallel cosmology 
Salvatore Capozziello, Rocco D’Agostino and Orlando Luongo - 
arXiv:1706.02962v1 [gr-qc] 9 Jun 2017 

 

We have the following equations: 

 

 

For q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;   
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from (52): 

 

0.776^3+3*0.776^2(1-0.545)(6-11*0.545)-3*0.776*0.545^2(12-0.545(29-
16*0.545))+0.545^4(18-0.545(36-17*0.545))-15*0.545^2(1-0.545)*(-
0.192)+3*0.776(5-7*0.545)*(-0.192)+3*0.192^2  

 

we obtain: 

 
Input: 

 
 
Result: 

 
0.088999849049640625 = 𝒩 

 

 

 

For:  

T = -47526;  H0 = 71.47;   q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;  

 𝒬 = 0.038880875;   𝒫′(𝑡) = -0.106423819;    2.00587*106 = 𝒫(𝑇) 

7.5190294556…*10-7 = 𝒫′′(𝑇);   0.088999849049640625 = 𝒩 

 

From (49) 

 

We obtain: 

71.47^2*sqrt(2*2.00587e+6) * 0.038880875 – 2*71.47^3*0.088999849049640625 + 
sqrt(-6*-47526) * 71.47^2*0.038880875^2 

Input interpretation: 
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Result: 

 
3.36928 * 105 = ℳ(𝑇)    

 

 

From which: 

72*((((71.47^2*sqrt(2*2.00587e+6) * 0.038880875 – 
2*71.47^3*0.088999849049640625 + sqrt(-6*-47526) * 
71.47^2*0.038880875^2))))^1/4-5-(4/5)^2 

Input interpretation: 

 
 
Result: 

 
1729.03… 

 

(((72*((((71.47^2*sqrt(2*2.00587e+6) * 0.038880875 – 
2*71.47^3*0.088999849049640625 + sqrt(-6*-47526) * 
71.47^2*0.038880875^2))))^1/4-5-(4/5)^2)))^1/15 

Input interpretation: 

 
 
Result: 

 
1.643817… 
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(((72*((((71.47^2*sqrt(2*2.00587e+6) * 0.038880875 – 
2*71.47^3*0.088999849049640625 + sqrt(-6*-47526) * 
71.47^2*0.038880875^2))))^1/4-5-(4/5)^2)))^1/15-(21+5)/10^3 

Input interpretation: 

 
 
Result: 

 
1.617817… 
 

 

From (47) 

 

We obtain: 

1/(2*0.038880875) * [2(0.545^2-0.776)+((4*3.36928e+5)/(71.47^3))^(1/3) + 
((16*71.47^3)/(3.36928e+5))^(1/3) * (0.776^2-0.545^2(6-12*0.545-7*0.545^2)-
2*0.776(3-7*0.545-5*0.545^2)-2*(-0.192)*(1-0.545))] 

Input interpretation: 

 
 
Result: 

 
178.118325594..... = z(T) 
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[1/(2*0.0388808) [2(0.545^2-
0.776)+((4*3.36928e+5)/(71.47^3))^(1/3)+((16*71.47^3)/(3.36928e+5))^(1/3) 
(0.776^2-0.545^2(6-12*0.545-7*0.545^2)-2*0.776(3-7*0.545-5*0.545^2)-2*(-
0.192)*(1-0.545))]]-34-5 

Input interpretation: 

 
 
Result: 

 
139.119... 

 

[1/(2*0.0388808) [2(0.545^2-
0.776)+((4*3.36928e+5)/(71.47^3))^(1/3)+((16*71.47^3)/(3.36928e+5))^(1/3) 
(0.776^2-0.545^2(6-12*0.545-7*0.545^2)-2*0.776(3-7*0.545-5*0.545^2)-2*(-
0.192)*(1-0.545))]]-55+2 

Input interpretation: 

 
 
Result: 

 
125.119... 
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[1/(2*0.0388808) [2(0.545^2-
0.776)+((4*3.36928e+5)/(71.47^3))^(1/3)+((16*71.47^3)/(3.36928e+5))^(1/3) 
(0.776^2-0.545^2(6-12*0.545-7*0.545^2)-2*0.776(3-7*0.545-5*0.545^2)-2*(-
0.192)*(1-0.545))]]-47-3 

Input interpretation: 

 
 
Result: 

 
128.1186691794004624.... 

 

(27*1/2*128.1186691794004624)-1/2 

Input interpretation: 

 
 
Result: 

 
1729.1020339219062424 
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([1/(2*0.0388)[2(0.545^2-
0.776)+((4*3.36928e+5)/(71.47^3))^(1/3)+((16*71.47^3)/(3.36928e+5))^(1/3)(0.776
^2-0.545^2(6-12*0.545-7*0.545^2)-2*0.776(3-7*0.545-5*0.545^2)-2(-0.192)(1-
0.545))]])^1/10-0.034 

Input interpretation: 

 
 
Result: 

 
1.64542761798… 

 

([1/(2*0.0388)[2(0.545^2-
0.776)+((4*3.36928e+5)/(71.47^3))^(1/3)+((16*71.47^3)/(3.36928e+5))^(1/3)(0.776
^2-0.545^2(6-12*0.545-7*0.545^2)-2*0.776(3-7*0.545-5*0.545^2)-2(-0.192)(1-
0.545))]])^1/11+0.016 

Input interpretation: 

 
 
Result: 

 
1.6181090828… 
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Now, we take the three results: 

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);    0.088999849049640625 = 𝒩 

 

 

we obtain: 

(178.118325594 +  3.36928 * 10^5  +  0.088999849049640625)^1/2 

Input interpretation: 

 
 
Result: 

 
580.608... 

 

From the formula of coefficients of the '5th order' mock theta function 𝜓1(q): 
(A053261 OEIS Sequence) 

sqrt(golden ratio) * exp(Pi*sqrt(n/15)) / (2*5^(1/4)*sqrt(n))  for n = 143, we obtain: 

 

sqrt(golden ratio) * exp(Pi*sqrt(143/15)) / (2*5^(1/4)*sqrt(143)) 

Input: 

 

 
Exact result: 

 
 
Decimal approximation: 

 
580.3832861379… 
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Property: 

 
Alternate forms: 

 

 
 
Series representations: 
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And also: 

3(178.118325594 +  3.36928 * 10^5  +  0.088999849)^1/2 – 13 

Input interpretation: 

 
 
Result: 

 
1728.8254407..... ≈ 1729 

 

Now, we have: 

 q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;  

  

Previous results  

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);    0.088999849049640625 = 𝒩 

T = -47526;  H0 = 71.47;    

-3.82117…*10-7 = ℳ′′(𝑇);   -0.0539335... = ℳ′(𝑇);  2.00587*106 = 𝒫(𝑇); 
0.038880875 = 𝒬;   7.5190294556…*10-7 = 𝒫′′(𝑇);    -0.106423819.... = 𝒫′(𝑇) 
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From (58), we obtain: 

-2*71.47^2*0.194035454375+2^(1/3)*(3.36928*10^5)^(2/3) 

Input interpretation: 

 
 
 
Result: 

 
4118.29.... = G(T) 

 

From (59) 

 

q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;  

 

we obtain: 

0.776^2+0.545^2(6-12*0.545+7*0.545^2)-2*0.776(3-7*0.545+5*0.545^2)-2*(-
0.192)*(1-0.545) 

Input: 

 
 
Result: 

 
0.194035454375 = μ   
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q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;  

   

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);    0.088999849049640625 = 𝒩 

T = -47526;  H0 = 71.47;    

-3.82117…*10-7 = ℳ′′(𝑇);   -0.0539335... = ℳ′(𝑇);  2.00587*106 = 𝒫(𝑇); 
0.038880875 = 𝒬;   7.5190294556…*10-7 = 𝒫′′(𝑇);    -0.106423819.... = 𝒫′(𝑇) 

From (55) 

 

we obtain: 

 2(0.545^2-0.776)+(((4*3.36928*10^5)/(71.47)^3))^(1/3) + 
(((16*71.47^3)/(3.36928*10^5)))^(1/3) 

Input interpretation: 

 
 
Result: 

 
3.1756941904857.....= ξ(T)    
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From which: 

((( 2(0.545^2-0.776)+(((4*3.36928*10^5)/(71.47)^3))^(1/3) + 
(((16*71.47^3)/(3.36928*10^5)))^(1/3))))^(1/2.3296) 

 

where 2.3296 is the Hausdorff dimension value of  

 

 

 

ln(20) / ln((2+(sqrt5+1)/2)) 

Input: 

 

 
Decimal approximation: 

 
2.329621716… 

 

Alternate forms: 

 

 

 
 
Alternative representations: 
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Series representations: 

 

 

 
 
Integral representations: 

 

 
 

Thence, we obtain: 

Input interpretation: 

 
 
Result: 

 
1.64217103278…. 
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((( 2(0.545^2-0.776)+(((4*3.36928*10^5)/(71.47)^3))^(1/3) + 
(((16*71.47^3)/(3.36928*10^5)))^(1/3))))^(1/2.3296)-(21+3)1/10^3 

Input interpretation: 

 
 
Result: 

 
1.61817103278… 

 

 

From (56),  

 

 
 

For:  q0 = -0.545;   j0 = 0.776  and  s0 = -0.192;  0.194035454375 = μ   

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);   T = -47526;  H0 = 71.47;    

 

we obtain: 

 

2^(4/3)*71.47^2*0.194035454375 + 2*[71.47(0.545^2-0.776)]*(3.36928 * 
10^5)^(1/3)+2^(2/3)*(3.36928 * 10^5)^(2/3) 

Input interpretation: 

 
 
Result: 

 
5419.60.... = X(T)    

 

 

 



18 
 

From which: 

((((2^(4/3)*71.47^2*0.194035454375 + 2*71.47[(0.545^2-0.776)]*(3.36928 * 
10^5)^(1/3)+2^(2/3)*(3.36928 * 10^5)^(2/3)))))^1/18+(29+3)1/10^3 

Input interpretation: 

 
 
Result: 

 
1.644288… 

 

 

 

((((2^(4/3)*71.47^2*0.194035454375 + 2*71.47[(0.545^2-0.776)]*(3.36928 * 
10^5)^(1/3)+2^(2/3)*(3.36928 * 10^5)^(2/3)))))^1/18+(4+2)1/10^3 

Input interpretation: 

 
 
Result: 

 
1.618288… 

 

From (57), 

 

we obtain: 

2^(4/3)*0.532*71.47^2*0.194035454375 + 2*71.47(2*0.038880875+0.532(0.545^2-
0.776))*[3.36928e+5^(1/3)]+2^(2/3)*0.532*(3.36928*10^5)^(2/3) 
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Input interpretation: 

 
 
Result: 

 
3656.67.... = Y(T)  

 

From which: 

(((2^(4/3)*0.532*71.47^2*0.194035454375 + 
2*71.47(2*0.038880875+0.532(0.545^2-
0.776))*[3.36928e+5^(1/3)]+2^(2/3)*0.532*(3.36928*10^5)^(2/3))))^1/17+(21+3)1/
10^3 

Input interpretation: 

 
 
Result: 

 
1.64429… 

 

(((2^(4/3)*0.532*71.47^2*0.194035454375 + 
2*71.47(2*0.038880875+0.532(0.545^2-
0.776))*[3.36928e+5^(1/3)]+2^(2/3)*0.532*(3.36928*10^5)^(2/3))))^1/17-2/10^3 

Input interpretation: 

 
 
Result: 

 
1.61829…. 
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Various results: 

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);    0.088999849049640625 = 𝒩 

T = -47526;  H0 = 71.47;  -3.82117…*10-7 = ℳ′′(𝑇);   -0.0539335... = ℳ′(𝑇);  
2.00587*106 = 𝒫(𝑇); 0.038880875 = 𝒬;   7.5190294556…*10-7 = 𝒫′′(𝑇);  

 -0.106423819.... = 𝒫′(𝑇);   3656.67.... = Y(T);  5419.60.... = X(T);     

3.1756941904857.....= ξ(T);  0.194035454375 = μ;   4118.29.... = G(T) 

 

From the algebraic sum, we obtain: 

(((178.118325 + (3.36928e+5) + 0.0889998 - 47526 + 71.47 - (3.82117e-7) -
0.0539335 + (2.00587e+6) + 0.03888 + (7.519029e-7) -
0.106423819+3656.67+5419.60+3.175694+0.1940354+4118.29)))  

 
Input interpretation: 

 
 
Result: 

 
2.3087194855772507859*106 

 

From which: 

 

(((178.118325+(3.36928e+5)+0.0889998-47526+71.47-(3.82117e-7)-0.0539335+ 
(2.00587e+6)+0.03888+(7.519029e-7)- 
0.106423819+3656.67+5419.60+3.175694+0.1940354+4118.29)))^1/30+(11+4)1/10
^3 

Input interpretation: 
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Result: 

 
1.644718… 

 

 

(((178.118325 + (3.36928e+5) + 0.0889998 - 47526 + 71.47 - (3.82117e-7) -
0.0539335 + (2.00587e+6) + 0.03888 + (7.519029e-7) -
0.106423819+3656.67+5419.60+3.175694+0.1940354543+ 4118.29)))^1/30-11/10^3 

 

Input interpretation: 

 
 
Result: 

 
1.618718…. 

 

And again, we obtain: 

 

(((178.118325 + (3.36928e+5) + 0.0889998 - 47526 + 71.47 - (3.82117e-7) -
0.0539335 + (2.00587e+6) + 0.03888 + (7.519029e-7) -
0.106423819+3656.67+5419.60+3.175694+0.1940354+4118.29)))^1/3+7 

 

Input interpretation: 

 
 
Result: 

 
139.167… 
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(((178.118325 + (3.36928e+5) + 0.0889998 - 47526 + 71.47 - (3.82117e-7) -
0.0539335 + (2.00587e+6) + 0.03888 + (7.519029e-7) -
0.106423819+3656.67+5419.60+3.175694+0.1940354+4118.29)))^1/3-7 

 

Input interpretation: 

 
 
Result: 

 
125.167… 

 

 

27*1/2(((((178.118325 + (3.36928e+5) + 0.0889998 - 47526 + 71.47 - (3.82117e-7) -
0.0539335 + (2.00587e+6) + 0.03888 + (7.519029e-7) -
0.106423819+3656.67+5419.60+3.175694+0.1940354+4118.29)))^1/3-4))-1 

 

Input interpretation: 

 
 
Result: 

 
1729.26…  

 

With regard 27 (From Wikipedia): 

 “The fundamental group of the complex form, compact real form, or any algebraic 
version of E6 is the cyclic group Z/3Z, and its outer automorphism group is the cyclic 
group Z/2Z. Its fundamental representation is 27-dimensional (complex), and a basis 
is given by the 27 lines on a cubic surface. The dual representation, which is 
inequivalent, is also 27-dimensional. In particle physics, E6 plays a role in 
some grand unified theories”. 
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Now, we have that: 

 

178.118325594..... = z(T);   3.36928 * 105 = ℳ(𝑇);    0.088999849049640625 = 𝒩 

T = -47526;  H0 = 71.47;  -3.82117…*10-7 = ℳ′′(𝑇);   -0.0539335... = ℳ′(𝑇);  
2.00587*106 = 𝒫(𝑇); 0.038880875 = 𝒬;   7.5190294556…*10-7 = 𝒫′′(𝑇);  

 -0.106423819.... = 𝒫′(𝑇);   3656.67.... = Y(T);  5419.60.... = X(T);     

3.1756941904857.....= ξ(T);  0.194035454375 = μ;   4118.29.... = G(T) 

 

 α = 0.5 

From 

                                                                                                                               (53) 

we obtain: 

 

-1/2[-47526+0.5((((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))] 

 

Input interpretation: 

 
 
Result: 

 
-3.07017…*1012 
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(((2^(1/3)*0.5*8.577*(-
47526)(4118.29))))/(((24*71.47^3*0.038880875^3*(3.36928*10^5)^2)))*5419.60*3
656.67*(-0.0539335)* exp(((0.532*3.17569419)/(2*0.038880875))) 

 

Input interpretation: 

 
 
Result: 

 
5.27137…*1010 

 

-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10 

 

Input interpretation: 

 
 
Result: 

 
-3.01745...*1012 = final result 

 

From which: 

 

(((-(-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10))))^1/60+29/10^3 

Input interpretation: 
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Result: 

 
1.643336278…. 

 
 

(((-(-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10))))^1/60+4/10^3 

 

Input interpretation: 

 
Result: 

 
1.618336278…. 
 

 

(((-(-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10))))^1/6+5 

 

Input interpretation: 

 
 
Result: 

 
125.210... 
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(((-(-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10))))^1/6+18+golden ratio 

 

Input interpretation: 

 

 
 
Result: 

 
139.828... 

 

 

27*1/2(((((-(-1/2[-47526+0.5((-
5.022+((8.577*(3.17569419)/(4*0.038880875^2))*exp(((0.532*3.17569419)/(2*0.03
8880875))))))]+5.27137 × 10^10))))^1/6+8))-golden ratio 

 

Input interpretation: 

 

 
 
Result: 

 
1729.21… 
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Now, from: 

 

Notes on Strings and Higher Spins 
A. Sagnotti - arXiv:1112.4285v4 [hep-th] 21 Jun 2012  

 

We have that. 
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........ 

 
 

 
For:    

 

D = 6 

s ≥ 2, s = 2,  r = 0  (for eq. (3.29));   (ML)2 = 4 

 
ζ = 6/2+3 = 6  for s ≥ 2, s = 3 (only for the value of  ζ) 

 

From 
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we obtain:  

 

1+1/(2(5/2-6))*(4+2(5/2-6))/(4-2(3))+1/8*((4^2+8*4(7/2-6)+12(5/2-6)))/(((5/2-6)(4-
2(3))(4-6(2))))+1/48*((((4^3-4^2(18*6-77)+92*4(7/2-6)+120(5/2-6)))))/(((5/2-6)(4-
2*(3))(4-6(2))(4-10))) 

 
 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
0.912450396825…. result very near to the spectral index ns , to the mesonic Regge 
slope, to the inflaton value at the end of the inflation 0.9402 (see Appendix) and to 
the value of the following Rogers-Ramanujan continued fraction: 
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From: 
 
Astronomy & Astrophysics manuscript no. ms c ESO 2019 - September 24, 2019 
Planck 2018 results. VI. Cosmological parameters 
 
The primordial fluctuations are consistent with Gaussian purely adiabatic scalar 
perturbations characterized by a power spectrum with a spectral index ns = 0.965 ± 
0.004, consistent with the predictions of slow-roll, single-field, inflation. 
 
 

We know that α’ is the Regge slope (string tension). With regard the Omega mesons, 
the values are: 
 
 

                        
 

                                    
 

                                       
 
 

 

 

We have the following two Ramanujan continued fractions: 
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from the sum, we obtain: 

 

(sqrt(sqrt2-1))+((((sqrt(golden ratio*sqrt5))-golden ratio))) 

 

Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

0.927673296745… result very near to above solution 

Minimal polynomial: 

 

Alternate forms: 

 

 

 

 
Series representations: 
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From: 

 

Can. J. Math. Vol. 47 (5), 1995 pp. 897-914 
SOME VALUES FOR THE ROGERS-RAMANUJAN CONTINUED 
FRACTION 
BRUCE C. BERNDT AND HENG HUAT CHAN 

 

 

We have the following expression: 

 

 

 

 

 



33 
 

 
 

 
 

we obtain: 

 

(1/sqrt2 (6sqrt3+4sqrt5)) 

 

Input: 

 
Result: 

 
Decimal approximation: 

 
13.67302454868… 

 

Alternate forms: 
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Minimal polynomial: 

 
 

 

 

 

Thence, from: 

 

 
 

we obtain: 

 

-(((2-sqrt3)(3-sqrt5))) / [sqrt2*((((13.67302454)+15^0.25 (3+sqrt15)))] 

 

Input interpretation: 

 
 
Result: 

 
-0.00532157... 

 

 

From which: 

 

(((-(-(((2-sqrt3)(3-sqrt5))) / [sqrt2*((((13.67302454)+15^0.25 (3+sqrt15))))]))))^1/57 

 

Input interpretation: 
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Result: 

 
0.912233371658..... result very near to the previous solution 

 

Input interpretation: 
 

 
Rational approximation: 

 
 

 

Continued fraction: 

 
 

Possible closed forms: 
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From Ramanujan paper: 
 

 

 
 

we obtain: 

 

[1/4(((5sqrt5 – 3 + sqrt(30(5-sqrt5)))))]^(1/5) 

 

Input: 

 
Result: 

 
Decimal approximation: 

 
1.340072390306… 

 

Alternate forms: 

 

 
 
Minimal polynomial: 
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From which: 

 

1/((([1/4(((5sqrt5 – 3 + sqrt(30(5-sqrt5)))))]^(1/5))))^1/(Pi) 

 

Input: 

 

Exact result: 

 

 
 
Decimal approximation: 

 

0.911032390947…. result very near to the previous solution 

 
Continued fraction: 
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Series representations: 

 

 

 

 

 
 

Now, we have that: 
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we obtain: 

 

sqrt5* (((5^(1/4) + 1))) / (((5^(1/4) – 1))) 

 

Input: 

 
 
Result: 

 
 
Decimal approximation: 

 
11.2643246817… 

 
Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 

 

From which: 

 

((36Pi)/11) 1/ ((((sqrt5* (((5^(1/4) + 1))) / (((5^(1/4) – 1))))))) 

 

Input: 
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Result: 

 
 
Decimal approximation: 

 
0.9127556464939…. result very near to the previous solution 

 

Property: 

 
 
Alternate forms: 

 

 

 
 
Series representations: 
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Now, we have that: 

 

 
 
More details on how these results lead directly to the general cubic couplings can be 
found in [42]. This expression is to be computed at ξ = 0, pij = pi – pj and the notation 
is as in eq. (3.43) 
 

 

 
 

From: 

 

String Lessons for Higher-Spin Interactions 
A. Sagnotti and M. Taronna - arXiv:1006.5242v2 [hep-th] 31 Aug 2010 

 

We have that: 

 



43 
 

 

 

 
 



44 
 

 
 



45 
 

 
 

 

 
We have:  s = 2;  h1 = 3;  h2 = 5;   𝜙 = 8;   p23 = p31 = p12 = 0.968458i ;   α’ = 1.0662     

α = - 3  

  
  α = -6*(2-3/2) = -3 

 

-x^2 = (2-1)/(1.0662)  

Complex solutions: 
 

 

 
p = 0.968458i 

 

(2-1)/(-6(2-3/2)) 

-x^2 = (2-1)/(-6(2-3/2)) = p = 1/√3 
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h1 , h2 and φ are the two spin–2 and the spin–s momentum–space fields. 

 

From: 

 

 
 

for:  s = 2;  h1 = 3;  h2 = 5;   𝜙 = 8;   p23 = p31 = p12 = 0.968458i ;   α’ = 1.0662     

α = - 3 ;  
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we obtain: 

 

 

4(sqrt(1.0662/2))^2*[3*5*8*0.968458+2(3*5*8*0.968458^2+15*8*0.968458^2)+(1
5*8*0.968458^2+15*8*0.968458^2+2(3*5*8*0.968458^2+15*8*0.968458^2)] 

 

Input interpretation: 

 
 
Result: 

 
2647.81821877434432 result very near to the rest mass of charmed Xi baryon 2645.9 

 

8(sqrt(1.0662/2))^4*[15*8*0.968458^4+15*8*0.968458^4+15*8*0.968458^4] 

 

Input interpretation: 

 
 
Result: 

 
720.00086284… 

 

(sqrt(1.0662/2))^6 * 15*8*0.968458^6 

 

Input interpretation: 

 
 
Result: 

 
15.000026963835... 
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Thence, we obtain: 

 

(2647.81821877434432+720.000862842465097+15.000026963835112615) 

 

Input interpretation: 
 

 
Result: 

 
3382.819108580644529615  (final result) 

 

From which: 

 

(2647.8182187+720.0008628 +15.0000269)+199+29+11 

 

Input interpretation: 
 

 
Result: 

 
3621.8191084 result practically equal to the rest mass of double charmed Xi baryon 
3621.40 

 

Further, we obtain also: 

 

1/2(2647.8182187+720.0008628 +15.0000269)+34+3+1/golden ratio 

 

Input interpretation: 

 

 

 
Result: 

 

1729.027588… 
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Alternative representations: 

 

 

 

 

We obtain also: 

 

1/24(2647.8182187+720.0008628 +15.0000269)-golden ratio 
 

Input interpretation: 

 

 

Result: 

 

139.3327622… 

 
Alternative representations: 
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1/24(2647.8182187+720.0008628 +15.0000269)-13-golden ratio^2 

 

Input interpretation: 

 

 

 
Result: 

 

125.3327622… 

 
Alternative representations: 

 

 

 

 

1/24(2647.8182187+720.0008628 +15.0000269)-Pi-1/golden ratio 

 

Input interpretation: 

 

 

Result: 

 

137.1911695…  

This result is very near to the inverse of fine-structure constant 137,035 
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Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
Integral representations: 
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And again: 

 

(2647.8182187+720.0008628 +15.0000269)^1/16-18/10^3 

 

Input interpretation: 

 
 
Result: 

 
1.64380447239... 

 

 

(2647.8182187+720.0008628 +15.0000269)^1/17+5/10^3 

 

Input interpretation: 

 
Result: 

 
1.61788957127… 

 

sqrt[6((((2647.8182187+720.0008628 +15.0000269)^1/16-18/10^3)))] 

 

Input interpretation: 

 
 
Result: 

 
3.14051378509... ≈ π 
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In conclusion, we obtain also: 

 

(2647.8182187+720.0008628 +15.0000269)^1/15+13/10^3 

 

Input interpretation: 

 
 
Result: 

 
1.73203710795.... ≈ √3  that is the ratio between the gravitating mass M0  and the 
Wheelerian mass q  
 

       

 
(see: Can massless wormholes mimic a Schwarzschild black hole in the strong field lensing? - 
arXiv:1909.13052v1 [gr-qc] 28 Sep 2019) 
 
 

 

Possible closed forms: 
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Appendix 

 
 

From the following Ramanujan Taxicab Numbers 

 

 

 

 

we obtain:  

 

135^3+138^3 – 9^3+10^3 = 5088718 

Input: 
 

 
Result: 

 
5088718 

 

From which: 

(5088718 - 135^3+9^3 - 10^3)^1/3+golden ratio 

Input: 

 

 
Result: 
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Decimal approximation: 

 
139.61803398…. 

 

Alternate forms: 

 

 

 
 
Alternative representations: 

 

 

 
 

 

(5088718 - 138^3+9^3 - 10^3)^1/3-10+1/golden ratio 

Input: 

 

 
 
Result: 

 
 
Decimal approximation: 

 
125.61803398…. 
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Alternate forms: 

 

 

 
 
 
 
Alternative representations: 

 

 

 
 

 

135^3+138^3 – x = 5086718 

Input: 
 

 
Result: 
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Plot: 

 
 
 
Alternate form: 

 
 
Solution: 

 
1729 
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Observations  

 

Figs. 
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The ratio between M0  and  q  
 
 

 
 

 
i.e. the gravitating mass M0  and the Wheelerian mass q of the wormhole, is equal to: 
 
  

 
 

 

 

1.7320507879 ≈ √3  that is the ratio between the gravitating mass M0  and the 
Wheelerian mass q of  the wormhole 
 

We note that: 
 
 

 

 
 

 

 
1.73205 

 
This result is very near to the ratio between M0  and  q, that is equal to 1.7320507879 
≈ √3 
 
 

With regard √3 , we note that is a fundamental value of the formula structure that we 
need to calculate a Cubic Equation 
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We have that the previous result 
 
 

  =   =  
 
=  
 

 
 
can be related with: 
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Considering:  
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Thence: 
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We observe how the graph above, concerning the cubic function, is very similar 
to the graph that represent the scalar field (in red). It is possible to hypothesize 
that cubic functions and cubic equations, with their roots, are connected to the 
scalar field. 
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From: 
https://www.scientificamerican.com/article/mathematics-
ramanujan/?fbclid=IwAR2caRXrn_RpOSvJ1QxWsVLBcJ6KVgd_Af_hrmDYBNyU8mpSjRs1BDeremA 

 
Ramanujan's statement concerned the deceptively simple concept of partitions—the 
different ways in which a whole number can be subdivided into smaller numbers. 
Ramanujan's original statement, in fact, stemmed from the observation of patterns, 
such as the fact that p(9) = 30, p(9 + 5) = 135, p(9 + 10) = 490, p(9 + 15) = 1,575 
and so on are all divisible by 5. Note that here the n's come at intervals of five units. 
 
Ramanujan posited that this pattern should go on forever, and that similar patterns 
exist when 5 is replaced by 7 or 11—there are infinite sequences of p(n) that are all 
divisible by 7 or 11, or, as mathematicians say, in which the "moduli" are 7 or 11. 
 
Then, in nearly oracular tone Ramanujan went on: "There appear to be 
corresponding properties," he wrote in his 1919 paper, "in which the moduli are 
powers of 5, 7 or 11...and no simple properties for any moduli involving primes other 
than these three." (Primes are whole numbers that are only divisible by themselves or 
by 1.) Thus, for instance, there should be formulas for an infinity of n's separated by 
5^3 = 125 units, saying that the corresponding p(n)'s should all be divisible by 125. 
In the past methods developed to understand partitions have later been applied to 
physics problems such as the theory of the strong nuclear force or the entropy of 
black holes. 
 
From Wikipedia 
 
In particle physics, Yukawa's interaction or Yukawa coupling, named after Hideki 
Yukawa, is an interaction between a scalar field ϕ and a Dirac field ψ. The Yukawa 
interaction can be used to describe the nuclear force between nucleons (which 
are fermions), mediated by pions (which are pseudoscalar mesons). The Yukawa 
interaction is also used in the Standard Model to describe the coupling between 
the Higgs field and massless quark and lepton fields (i.e., the fundamental fermion 
particles). Through spontaneous symmetry breaking, these fermions acquire a mass 
proportional to the vacuum expectation value of the Higgs field.  
 
 

Can be this the motivation that from the development of the Ramanujan’s equations 
we obtain results very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV and practically equal to 
the rest mass of  Pion meson 139.57 MeV 
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Note that: 

 

Thence: 

 

And 

 

That are connected with 64, 128, 256, 512, 1024 and 4096 = 642 

 
(Modular equations and approximations to π - S. Ramanujan - Quarterly Journal of 
Mathematics, XLV, 1914, 350 – 372) 
 
 
All the results of the most important connections are signed in blue throughout the 
drafting of the paper. We highlight as in the development of the various equations we 
use always the constants π, ϕ, 1/ϕ, the Fibonacci and Lucas numbers, linked to the 
golden ratio, that play a fundamental role in the development, and therefore, in the 
final results of the analyzed expressions. 
 
In mathematics, the Fibonacci numbers, commonly denoted Fn, form a sequence, called 
the Fibonacci sequence, such that each number is the sum of the two preceding ones, starting from 
0 and 1. Fibonacci numbers are strongly related to the golden ratio: Binet's formula expresses 
the nth Fibonacci number in terms of n and the golden ratio, and implies that the ratio of two 
consecutive Fibonacci numbers tends to the golden ratio as n increases. 
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Fibonacci numbers are also closely related to Lucas numbers ,in that the Fibonacci and Lucas 
numbers form a complementary pair of Lucas sequences  

The beginning of the sequence is thus: 

 
 

0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, 377, 610, 987, 1597, 2584, 4181, 6765, 10946, 
17711, 28657, 46368, 75025, 121393, 196418, 317811, 514229, 832040, 1346269, 2178309, 

3524578, 5702887, 9227465, 14930352, 24157817, 39088169, 63245986, 102334155...  

 

The Lucas numbers or Lucas series are an integer sequence named after the 
mathematician François Édouard Anatole Lucas (1842–91), who studied both that sequence and 
the closely related Fibonacci numbers. Lucas numbers and Fibonacci numbers form 
complementary instances of Lucas sequences. 

The Lucas sequence has the same recursive relationship as the Fibonacci sequence, where each 
term is the sum of the two previous terms, but with different starting values. This produces a 
sequence where the ratios of successive terms approach the golden ratio, and in fact the terms 
themselves are roundings of integer powers of the golden ratio.[1] The sequence also has a variety 
of relationships with the Fibonacci numbers, like the fact that adding any two Fibonacci numbers 
two terms apart in the Fibonacci sequence results in the Lucas number in between. 

The sequence of Lucas numbers is: 

2, 1, 3, 4, 7, 11, 18, 29, 47, 76, 123, 199, 322, 521, 843, 1364, 2207, 3571, 5778, 9349, 15127, 
24476, 39603, 64079, 103682, 167761, 271443, 439204, 710647, 1149851, 1860498, 3010349, 
4870847, 7881196, 12752043, 20633239, 33385282, 54018521, 87403803…… 

All Fibonacci-like integer sequences appear in shifted form as a row of the Wythoff array; the 
Fibonacci sequence itself is the first row and the Lucas sequence is the second row. Also like all 
Fibonacci-like integer sequences, the ratio between two consecutive Lucas numbers converges to 
the golden ratio. 

 

A Lucas prime is a Lucas number that is prime. The first few Lucas primes are: 

2, 3, 7, 11, 29, 47, 199, 521, 2207, 3571, 9349, 3010349, 54018521, 370248451, 6643838879, ... 
(sequence A005479 in the OEIS). 

 
In geometry, a golden spiral is a logarithmic spiral whose growth factor is φ, the golden 
ratio.[1] That is, a golden spiral gets wider (or further from its origin) by a factor of φ for every 
quarter turn it makes. Approximate logarithmic spirals can occur in nature, for example the arms 
of spiral galaxies[3] - golden spirals are one special case of these logarithmic spirals 
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We observe that 1728 and 1729 are results very near to the mass of candidate glueball 
f0(1710) scalar meson. Furthermore, 1728 occurs in the algebraic formula for the j-
invariant of an elliptic curve. As a consequence, it is sometimes called a Zagier as a 
pun on the Gross–Zagier theorem. The number 1728 is one less than the Hardy–
Ramanujan number 1729  (taxicab number). 

 

Furthermore, we obtain as results of our computations, always values very near to the 
Higgs boson mass 125.18 GeV and practically equals to the rest mass of  Pion meson 
139.57 MeV. In conclusion we obtain also many results that are very good 
approximations to the value of the golden ratio 1.618033988749... and to ζ(2) = 
గమ

଺
= 1.644934… 

 

 

We note how the following three values: 137.508 (golden angle), 139.57 (mass of the Pion - 
meson Pi) and 125.18 (mass of the Higgs boson), are connected to each other. In fact, just add 
2 to 137.508 to obtain a result very close to the mass of the Pion and subtract 12 to 137.508 to 
obtain a result that is also very close to the mass of the Higgs boson. We can therefore 
hypothesize that it is the golden angle (and the related golden ratio inherent in it) to be a 
fundamental ingredient both in the structures of the microcosm and in those of the 
macrocosm. 
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